HT-1

= R o snurfa (01-15) agfeedia wsit & 3w
&g

fF=faf@a usl & wdt s aiity -

Q1" Tz e eI 8" §W AT I Y FU F8?

(A) Tz @21 g &1 (B) THeR Sifdramiar Mg &1

(C) T4z agd g 81 (D) THz & MgE JifdE Surer 21

Q.2 'gofta 1z 1 fareits erez an ghm?

(A) fsffa (B) srsfta  (C) wofta (D) 3 @ &id gl

Q.3 UHUS UeZ @ -

(A) fRsft  (B)am (Q)dga (D) Af

Q.4 P F @ & @ w2 g @ wafardt i 82

(M@= (B) R () s (D) e

Q.5 'TAUHRY 2rez 1 faudiarda ez ghm-

(A)umrd  (B) @t (C) e (D) go

Q.6 Ry 71g ez gt & IR o & forg wdt Ry & ag= fog-

fa-s=a
(A) 8aT -3 (B) 31T -gal (C) &l -3 (D) 3R -FeA

3rud-3rud
(A) 519 - (B) W -9ig  (C) fiw-urg  (D)urg -Fr=
Q.8 T e |AT e | F7 fadiwor @ -
(A)gusr  (B) gwRdt  (C)gva (D) asht
Q.9 TdTH & fha Wg gla &2
(A)TE  (B)a (O)®: (D)FME
Q.10 # & ggf mar arag | frar R g-
(WA @)@ (OF (D)W
g mq srgede #t wmgds afey ofik IR wafda nsi &
I {fSrg-
= R 3R 0w & SR & & @t e & forg afy 33 &) divar Hir
feafs ¢ veRr @ &+t Fzt-94 |, dlu-gear & gm+ afer™
& & @ Fft Sftaa & g a@ 3R T H Feny F gg I a0
fareeh gl &R 8t 9 1 a1 uas wanR it 3 tRom 21 e et
Iua! fawrE gon aft ua s, U& @1, UF @8R HER | 81 1)
diar g FARrett ofk 7% it 81 I &t a9 & @ 78T gha,
A @ 3meR & g1 Y wify Sfew =@ a7 F @t g1 & ok R
freht & urht g, famn faelt & qu ey @ga &) "oftaw & = A
frara &%t ok g &t 9z W gear & @2 g st ag H gag

fove frgor WAl werg & wfaaifiar o
AT Fa12d e vaer waT Han- 9 Hige 9w- 3

Q. 7 fag my 21z gt & 3IfRa ordf & fog @ e &1 aga ffSg-

(B) g 1 1o Y Wiy fawes gi=m
(C) 32w & forg g=ard W 9g1A & A siea @1
(D) g¥am = 3R FRren &=
WT-2 English
English frea o= sutRa (16-30) agfeedta usit &
IR &S

Read the passage below and answer the following questions:
(Q 16,17,18,19)

Plants need sunlight and water to make their own food.
You can do an experiment to test if this is true. Place a
bucket over a patch of green grass. After a few dauys, lift the
bucket. You will see that the grass is not as green anymore.

If you leave the bucket in place for a week, the grass will
become very dull. This happens because the grass cannot
make food in the dark. Remove the bucket. In a few days,

the grass will start turning green again.
Q 16.What is an experiment?

(A) a way to grow grass (B) a way to test an idea

(C) a way to use a bucket (D) a way need water

Q 17. What happens after a few days?

(A) The grass turns brown  (B)The grass gets very dull.
(C)The grass is not as green  (D)The grass becomes small.
Q 18What is the opposite of dull?

(A) bright (B) brown (C) sunlight (D) ray

Q 19. According to the passage, how long does it take for the
grass to become dull?

(A)a month (B) a week (C)afew days (D)a year

Q.20 Bheem scored a goal.Yes,a goal by Bheem.
(A) is scored (B) will be scored (C) scored (D) was scored
Q.21 This job by my brother next week.

(A)isdone (B)did (C) will be done (D) was done

Q.22 All the beds were my mother.

(A) made by (B) made her (C) make by (D) make for
Q.23 Many things in this house.

(A) is said. (B) are said (C) They are said (D) was said

Q.24 We will by that teacher.
(A) be taught (B) been taught

(C) have taught (D) be teached

Q.25 This policeman that man.

(A) was arrested (B) arrested for

mm&mﬁaﬁﬁqﬁﬁwm@ﬁmuﬁmm (C) arrested (D) will be arrested
U2l Q. 26 They will _____ this car soon.
Q.1 diar &t tkom 8?2 (A) be bought (B) buying (C) be buying (D) is bought
(A) ¥=i: (B)agy (C)wfe@ (D) Iudtes ot Q.27 This building in 1972,
Q.12 2R g&1 @ fradh germn & 1 82 (A) is built (B) was built (C) builded (D) will be built
A ER-RH  @)IRH (OFgaH (D) frar & Q. 28 The center forward a goal.
Q.13 R=fafRa & @ B- &1 w9 dizar &1 Td 87 (A) was scored (B) is scored (C) has Scored (D) scoring
Q.29 These boys the missing child.
MmN @E)FE (OF  (0)F (A) found (B) founded
Q.14 et 31 7 Rt areqor 8- (C) was founded by (D) was found by
(A)Fargs (B) 7 (C)§1® (D) HEOm Q.30 This car by Manauv in the race tomorrow.
Q.15 diRa &1 T=w T 8?2 (A) will be driven  (B) has driven
QA) gg daney o faredt oft grea F gg Sftan @ (C) is driven (D) will drive )




F H7T-3 fore
nfora farwg o suTRa (31-65) agfaewedia wsit & IwR

ifSg
Q.31 TN 1809025 & et # 3fehi ot e 2-

(A)2 (B)S5 (O4 (D)3
Q.32 0.25 &1 F7H 8-
(A)0.005 (B)0.05 (C)0.5

Q.33 V0.000361 &R 8-

(A)0.0019 (B)0.019 (C)0.19 (D) 0.00019
Q.34 Pr=faf@a dwemsit & @ gof a7 g 8-
(A)729  (B)106480  (C)900  (D)243

Q.35 (1728) &I G & -
(A1 (B)12 ()13 (D)17

Q.36 d§ Yan T frad 9000 @t 1qon fFrar s wifRy arfds
g g qof a1 & g gt -

(A)2 ()3 (05 (D)3ugwh A & &IE ¢

Q37 S°x8HHAAE-

(A)40°  (B)40™  (C)40* (D)5

Q.38 af 57x = 1/625 & dt x &1 A g -

(A)-1/4 (B)-4 (C)1/4 (D)4

Q.39 2 f&aenl & ga a1y &k 9= W a1 W i o & wrfdesan
ghh-

(A)1/2  (B)1/4 (O)1/3 (D)1/6

Q.40 = & & ufdy T 8-

(A)7 (B)v11 (C)v2 (D)% & &ig el

Q.41 T+t gurfes g &-

(A) uf¥dy dw=  (B) 85 @& (C) gof §@n (D) wigfaes dwan
Q.42  (-4/9) # forg e & 1on & &k UHHE (1) W Bl-
(A)-9/4 (B)9/4 (C)4/9 (D)

Q.43 6 el 1 Hed 224 8 A1 10 FHH] &1 Hed gT-
(A)315 (B)¥35 (C)%W0 (D) %65

Q.44 6 HuGR UH &5 7 R & a1 wand €1 21 Ao 39
g

A)2f=d B) 3fRad (©18Rad (D) ofmH

Q.45 Q& i &Y SEE 7500 81 afE 39 & 500 @ Prer &,

at g & Grerar &1 ufaerE ghm-
(A)90% (B)93.33% (C)66.66 (D) 50%

Q.46 afe; ars famrd GaifSa fmar srg &t 8% arffes s e &
iR & Fg! fase 8-

(A)5% (B)4% (C)2% (D)1%

Q.47 Q& AT &l #1034 F A9 W 10% AT giaT 81 A &1 &7 o
g -

(A)3940 (B)950 (C)%1000 (D)Z1050

(D) 0.005

\
Q.48 4,54 ¥ BHE gidt &-
(A)3 (B)7 (C)8 (D)9

Q.49 TuTe A 0T & TBO00 FIYRYT TS WR IUR forg aur 3 ad @

U e & 1440 A @1 sprar faman ans § arfie 22 ghft-
(A)4% (B)6% (C)8% (D)18%

Q.50 HTUROT &TST =( HeAUT X & X .ovvrenas )/100
(A) Aes (B)=&mw  (C) 999 (D) 399 & &1 gt

Q.51 (x* -7x +12) & UGS §-

(A) (x+4)(x-3) (B) (x-4)(x-3) (C) (x-4)(x-3) (D) (x-3)*
Q.52 FEUE 20x* + 12x*y? - 10y? + 20 FT GTAIF 8-

(A)3 (B)4 (2 (D)o

Q.53 afZ x + 1/x = 5/2 @ (x* +1/x*) &1 A1 gh7I-
(A)65/8 (B)125/8 (C)15/2 (D)23

Q.54 afZ gah a7 &t yds ik 8 #ft. & at 9 &1 e gh-
(A) 216 g #ft. (B) 200 g5 . (C) 51295+, (D) 186 T 1.
Q.55 8 Htex walt, 3 wfiex 9t @ 20 Hiex FH far &1 sy gim:-
(A) 450 9= &Y. (B) 370 u= . (C) 480 u= . (D) 620 = .
Q.56 U&h dei & Iy & Froar 4 It sk o 21 @, & 1 3w
3 &1 IHYB gHT-

(A) 96 @f 2t (B) 560 af At

(C) 528 af &+t (D) 192 af &+t

Q.57 & ATaTHR atd 6 drerd 3udh aard & g D @ ol
&S &1 awel 256 @t @ at gadh e 2-

(A) 8 H#tex  (B) 4#ftex () 327ftex (D) e¥fiex

Q.58 gy # oftwf &Y == gidt 2-

(A)6 (B)8 (C)12 (D)14

Q.59 3 o &1 Iuaht &eds 32 & afe wfaffde sgerar @:
(A arwE  (B) Rar@  (C)ud @ (D) 3 @ wiE @l
Q.60 3 ga Ut @&t thept WY dt 5 A Y mifdwar -

(A)O (B)% (C)1 (D)2

Q.61 AT 15, 25, 20, 40 T THIA AL

(A)20 (B)25 (C)30 (D)50

2,5,4,7,5,8, 68, 9& mifedar 8-

(B)2 (O)6 (D)5

Q. 62
(A)1
Q.63
(A)3

6,3,8,6,3,5,3, 3,3 % 9§ -
()6 (C)2 (D)5
Q. 64 AT & AHTT = .....cuvee x A & AAH
(A)2 (B)1/2 (C)3 (D)1/3
Q.65 F=fofaa # & &9 @1 s

9.15 x 103 SR &7
(A) 915000 (B) 91500 (C)9.150 (D) 9150000 )




f @vz-4 s

farm= g wr suTlRa (66-100) @gfewafa usit &
I &g

Q.66 HIgHfae muar &

(A) fa s (B) E@e (C) ¥yl (D) &t

Q.67 ITR WY WIHR &Y 3Tuer G 7 smuerad & d@ @
(A)5 (B)M (0)9 (D) fAfda e

Q.68 e 7y & smara | JHE AU 8

(A) simaer gt 8

(B) &z TR g1 Hifta smuer

(C) U TR gRI wift o

(D) @ TRl g aifta smuer

Q.69 BAR TR H3e &1 Gad gooh! U8 17 91 &

WIr B IH (O (D) HHE T

Q.70 1= |1 & gt &Y oAt Han F feawrd @ @

(A) qet a1 b &

(B) Gt &1 F@Tahyur a

(C) G4 &1 rarayor g

(D) gt &7 SRt ae

Q.71 gt & waffdes wefta & aren &R 8

(A) Sfrarw dem (B) T+

(C) 5= (D) e g SifaTEE

Q. 72 farar A IaTgRor @

(A) arg WEuvT (B) ST WGuYT (C) Rdeq A a B T (D) FHE T
Q.73 smhrefty fareht & fraeit diee @1 e glar @

(A)120 a@tee (B) 440 d@lee (C) 10 HAZ aled (D) 3=+
Q.74 STEHT & et fawreht &t erard gicht 2

(A) 49 5 Hiex (B) 4 & 5 fapeinfier

(C) &i% FAfga ¢ gtar (D) ehard gt gict

Q.75 hurel g ATé IeTEvr 2

(A) STt TiGHUT (B) aTg WEWuT (C) wigfads smaer (D) fwrd @
Q.76 T\ ATt IeTERor @

(A) ®reftg smaer (B) STeita 3maar

(C) y@RE smwr (D) e s

Q.77 e ey srfafas @

(A)2005 (B)2014 (C) 2023 (D) &Ig =gt

Q.78 Ffiew @R & R Y] 1 g fRfa gtar @

(A) R d (B) W& # (C) BFR W (D) geawr= 71 gian
Q.79 gr3Eto & wneufAe &Y dwen gidt

(A)1 (B)2 ()3 (D)&E @t

Q.80 a1 fve sraeur A gran S @

(A)3  (B)z@ ()W (D) A+ wui &

Q.81 wratfiede | &g awa &1 Iuahr fmar sirar @

(A) TS &1 (GESEEED

(C) wideh= &1 (D) iRl &1

Q.82 JToidhel aTg-l & ufed ga1 & orig fFa fa wr v gt wr @
QA)Wmmm (B) 3ifdra A a1

(C) SiTarer &t
Q.83 ggIoH glar 2
(A)aver  (B)m (C) g A BaHl
Q.84 dfd & aa W g &1 i wa gt 21

(A) HTR sifaargs (B) HIR wraie &Y
(C) i &y (D) &IE &l
Q.85 @re vty &t faden s arer Starg] @
(A) STEUHETE (B) TgWirE (C) F@rgifEan (D) daeiaian
Q.86 HAYH YTH &1 IZHT g3

(A)dRA  (B) st F (C)uefid (D)Fw A

Q.87 g&w Sfta gk farg @

(A) sveraes (B) Bifaas (C) fasea A @ B 21 (D) wTvmaTds
Q.88 Fed I & U H HETGS &

(AR (B) qafdfdes sper (C)3ifeas ser (D)wmsfess gfds
Q.89 ufvt & g7z & wegrgs gard

(A) gl (B) gafdfdes st (C)%ifees sner (D)umsfRw gfdre
Q. 90 3Ry &

(A)ure g (B)ST=g BT

(C) urey 3R Si<g grHla a1 (D) g gl

Q.91 1@ &1 MKS s & ar9a 8

(A) urehe (B) ggai/af fiex (O)fdwea A a B @l (D) ea/HieR
Q.92 T@ & S| °AFE &

(A) ureet (B) gesi/a Hiex (C) faweu A @ B 24T (D) =g/t
Q.93 Udhich &Fthel TR o714 a@Tell ifNeiad acl &i Hed &
(A)@ur  (B)Eie (C)a@1 (D)aE

Q.94 Oft g8 & et STt | e e @

(A) T & &HROT (B) &1& & RO

(C) dreha | (D) &F%a & HRUI

Q.95 THg ad W ATGHS &1 2@ UR & e T I v &
219 & SRER giaT &

(A) 76 Aéftex (B) 21 dhfier () a1 (D) & =gt

Q.96 arg ZT@ & Iudht W muTRa @

(A) s gy (B) Gi3fdhe vy (C) Gedied wu (D) |t
Q.97 U& W UT AT T & THE HI FEd &

(A) WehT 1 Fufehy

(B) wrehT2r a1 fagigur

(C) W1 &1 ITadH

(D) @irge e

Q.98 firon & fa wan1al & ToRA W faweh g1 wgeran @

(A) wanTer &1 avfers (B) Wer1er &1 fagtqur () werter &1 ruad
(D) @irge f@afén

Q.99 Hardl &

(A) & Y Sfta

(B) @ HifAh sfta

(C) T HfAH 3R agafAh S 241

(D) &g &

Q.100 wHifewr & farg s & At ard ord @
(A)FfEzaad B)Fwad (O)fFRw (D) dfad

(D) ATEZISH 1 -

(D) §HTg

J
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01- (C)
02- (A)
03- (B)
04- (D)
05- (B)
06- (A)
07- (C)
08- (B)
09- (C)
10- (B)
11- (A)
12- (B)
13- (A)
14- (A)
15- (C)
16- (B)
17- (B)
18- (A)
19- (B)
20- (D)

21- (C)
22- (A)
23- (B)
24- (A)
25- (C)
26- (C)
27- (B)
28- (C)
29- (A)
30- (A)
31- (C)
32- (C)
33- (B)
34- (A)
35- (B)
36- (B)
37- (A)
38- (B)
39- (B)
40- (A)

#1- (A)
42- (A)
43- (C)
44- (A)
45- (B)
46- (C)
47- (A)
48- (D)
49- (B)
50- (C)
51- (B)
52- (B)
53- (A)
54- (C)
55- (C)
56- (C)
57- (A)
58- (B)
59- (A)
60- (B)

forerst oY ARy wert < st o
AT Fa1%a faarea waer wiem Ham- 9 Hige Y- 3 (ITHTE) Eﬁi}

61- (B)
62- (C)
63- (A)
64- (D)
65- (D)
66- (D)
67- (B)
68- (C)
69- (C)
70- (C)
71- (A)
72- (B)
73- (C)
74- (B)
75- (B)
76- (D)
77- (A)
78- (B)
79- (C)
80- (B)

81- (A)
82- (D)
83- (A)
84- (B)
85- (C)
86- (A)
87- (C)
88- (A)
89- (B)
90- (A)
91- (B)
92- (A)
93- (D)
94- (B)
95- (A)
96- (D)
97- (A)
98- (B)
99- (B)
100- (A)




